I Py
¥

_ 17
> X—* < 0}' 0{!\3;/.:/11 ff’ﬁmf 2 -v”‘(. tﬁ!:’ ﬁ.ﬁ/lr{;}’l /f&”fmi: , '{
\ £) P(X,?/ ¢) = 0./2 4 0: /04 0.0F p 0.0] p C.0bt 0. pY ,0.03
= _0.50
ok Ple ) = [-Plxg3)
= t=(0.0bg 0.1440.06 p0.I%)
= .50
M) /@(Ll < X $é) = o./2 +‘o-/tﬁ+ 0.0% - 230 e
Y 12
| £/ 1) Measn MM%M_#W = Z xmx)
! rzo [

ot = Vanbue JWM@#%M

= z;ﬁ';ﬁ(x) - ’M,h
= A2ES - /576
- 5—1 /I

=> S brudoud clvrition_ oA wiashir ot et ol = olfy |
(reguedt)

. Plx>397)

= Pl y)

- 090




e tt o o b A smisin & |
X = L outimprbilin
\ 1) Plx= IQ) fD)A\m
Uiy P[x:::é;\: (‘Z)(o.é\(o.*-#)
% 0= X
diiy_ P X 6) = 5—6 / )(0 5)(9’({)
G P(X<3) = ﬁ' (2sylon)
) N ' @zum 0.6

N

\(\:’1




d,

_\ 4.

A Lot L{a m%ﬁé m

>(\-" ‘:#__

P()(z_ 2) = /-—A/’(X_f_;//)

- /-—)—.;D/)(ﬁﬁ) -*lv-p{)(%/)j

. )(”) L O

& (F) (‘;",}

Rl

—T

PL3 fmwa,,,dgw)_ {;Zé ) 0033

{/0)

.MUA/@ Vear  Low- .
Ve

Wa—ﬂ“

!/ Mo A

MM Y/ /MSMJ f»mﬁwy broued



) WA Lt od arusliwfs o = 0.3/%/1__,

L ‘)_____9_' X = # of attiehafs.
[ X o0 o3¢0
Plx>y)= 2 ¢
4 A=4 *% !



